Unit 7: Chemical Reactions

Multiple Choice Practice
Directions: Each of the questions or incomplete statements below is followed by four suggested answers or completions.  Select the answer that is best in each case and then fill in the corresponding circle on the answer sheet.

Note: For all questions, assume that the temperature is 298K, the pressure is 1.00 atm, and solutions are aqueous unless otherwise specified.
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34 Ethane (CH)) is a colorless gas used as a fuel. Ethane burns in oxygen to produce carbon
dioxide and water. The balanced chemical equation that describes this reaction is —

A 2CH, + 70, - 4CO, + 6H,0
B 2CH, + 50, - 3CO, + 6H,0
€ CH, +70,-54C0, + 3H,0

D 3CH, + 70, - 6CO, + 9H,0
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33 When this chemical equation is balanced, what is the coefficient of oxygen (0,)?

CHy(g) + 0,(g) - H,0(g) + CO,(9)
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34 When calcium carbonate reacts with vinegar, bubbles of carbon dioxide form. What is the
missing product in the balanced reaction below?

CaCo, + 2CH,COOH — Ca(CH,COO), + €O, +

CHO
Ca0
o
H,0
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44 Which of the following reactions is an oxidation-reduction reaction?

A

B
C
D

2Ca(s) + O,(g) — 2Ca0(s)

Ba(NO,),(aq) + Na,SO,(aq) — BaSO,(s) + 2NaNO,(aq)
HBrO,(aqg) + KOH(aq) — KBrO,(aq) + H,0(/)
NaBr(ag) + AgNO,(aq) — NaNO,(aq) + AgBr(s)
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25 In a redox reaction, the total number of
clectrons lost is

(1) less than the total number of electrons
gained

(2) greater than the total number of electrons
gained

(3) equal to the total number of electrons
gained

(4) unrelated to the total number of electrons
gained
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46 Given the equation representing a reaction:
Snt**(aq) + 2¢~ — Sn**(aq)
‘Which term best describes this reaction?

(1) ionization (3) oxidation
(2) neutralization (4) reduction
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. ‘The balanced chemical equation represents a reaction between glucose (C,H,,0,)
and oxygen (0,).

CeH,,0, + 60, — 6CO, + 6H,0

Which type of reaction does the equation represent?

A single replacement
B composition
C  double replacement
D combustion
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‘ The chemical equation represents the reaction between lithium (Li) and oxygen (O,).
AL+ 0,—>

What s the product of this reaction?
2Li,0

21,0,

2Li0

2Li,0,
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. ‘The unbalanced chemical equation shows the reaction between potassium chloride (KC1)
and oxygen (0,).

KCl+ __0,—___KCIO,

When the chemical equation is balanced, what is the molar ratio of O, to KCIO,?
A
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B
C
D
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1. Define Because mass is conserved in a chemical reaction, which of
the following is the same for the reactants and the products?
A amount of energy

B number of atoms
€ moles of molecules
D types of substances
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2. Apply Concepts Which of the following chemical equations is
balanced?

A 4A1+30,2AL0,

B MgN, + H,0 - 3MgO + 2NH,

C CH,+50,-3C0, + HO

D H,SO, + 2NaCN - HCN + 2Na,50,
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Apply Concepts Which of the following chemical equations is
balanced?

A 2A1+FeN, > 2AIN + Fe

B 4H,0 +7CO, > CH, + 70,

C CH,0, +30, -+ 6H,0 + 6CO,

D 2KNO, + H,CO, -+ K,CO, + 2HNO,
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Identify What coefficient should you place before HCI on the right
side of this chemical equation in order to balance it?

2AsCL + 3H,S - As;S, + [JHC
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33 Which coefficient belongs before H,50, when the equation shown is balanced?

H,S0, + Fe - Fe,(S0,), + H,
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